= 2x
5t

i

{T

‘11 o Jejme] WMol — a, y— b Tf, A5

a,b @ & a+ b 27

y:

@1 @ 2 ® 3 @ 4 ® 5



- ax—>b —
Sy = o a#ms} obg Ak,
o -2x+c
=

e atb+c o g FotH?
( a, b, c =7=) 4
® 2 @ 1 ® 0 o\ 2 v

@ 1 ® -2



TR



o

2~
s

y
ol

o

® -3

20T o) qapmet ey = —o defre

x—2

AAE = A

@ -2



@ 2 @ 3 @ 4 ® 5

1



3|
™

U7t x = -1 0l

= =
x5

LA
L

mo| 7

A

O yly<0EEy>2)

@ yly<lEE=1<y<2)

® {yl0<y<2)

® ly<lEE=y>2)



7.

1
2 < x <39 ¥%*—1ax+1sx+

o] 2|zt p o] H4ezke] FL FohE?

@® @ @1

W
Wl N



@0



T filx) = %};—EB of st fuy1 = fio fuln = 1,2,3,---) o=t

1
& o, figo(1) 2] 27




10.

s 2x—1
4 f(x) =

a+b+c2 e

® -5 @ -4

x+2°




